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Our Shiur began with another exchange between X2pY 727
and Xn2 72 7M1 similar to the one at the end of the
previous daf.

R2'pY 27 says that, not only 0, but also 177X got Ny for
speaking 37 nw5 about 1’27 7wn. Again RN 12 AT 27
took him to task and said -

PIINRID TOY ANR I PP P -

Either way you will have to account for your statement.

If you are correct - MR 7930 NN N0 7107 -

Y ou are revealing something that the 770 kept hidden.

If you are wrong, »>73 1MR 5V 105 XX NN -

you are maligning this p73.

The X2 goes on to teach two important lessons from the

o»oo that describe 1127 7w sticking his hand in his garment

and getting nY33 on his skin:

1013 77D W0 TOINT WS W IR -

One who suspects innocent people of wrongdoing gets
afflicted on his body.

We learn this from Moshe saying

DIPPRY RS 1 -

The Jewish people will not believe that I am a messenger of
Hashem to redeem them, and as a result he got ny7% on his
skin.

The second lesson;

TP RS DRI 210 770 RPIM 1272701 727 RIPTPRI R2T IOR
Yo -

We can learn that good things are quicker to come than bad
things from the fact that the nyx on nw»'s skin disappeared
more quickly than it had appeared in the first place.
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The Gemara now returns to our Mishnah at the beginning of
the Perek which discussed a case where somebody throws
something If someone
VIPRI D297 MW TR TR TN MwIn - THROWS
from one 71 MwA to another through a 0177 Mw-. T
V"7 says he’s 2°m and the omom say he's 109.

N0 Y17 AT TV TOPRS YAR ..PDO TIWYL TOPY 127 V...

)

2711 59771927 70PN 7015 YAR L.oPD TI0YD OYnS RDTINR - Y297 N
The Gemara suggests two possible ways to understand the [=3=abaiivh] PXIAND

b ; 7 7 7

(aman ) D)

-1- Where the object is passing through the airspace of the

0177 w1 at a height of less than 10 o'nov from the ground. 2 ways to understand the ﬂP"’mt
271 RpY 27 because he holds 1
NWT AMNAW 1 701 -

)i

. When something is in the airspace of a mw1, we view it as if
it's already resting in that mwA. Therefore, he is 271 for IR
D297 MW T mMw because when the object passed
through the airspace of the o177 mw1itis as if it had come to
rest in the o277 M.

PIvID OO - Because - X7 0317 103 IOIOR JIBR KO-

The Chachomim exempt him from liability, because they do
not consider the object as if it came to rest in the o237 mwA.
Therefore, all he did was transfer the object from one mwA
77 to another TR MwA, which is not a 71oRO».

However, R’ Akiva would agree that one is 109 if it was
thrown through the air space of the 0177 mw1 above the
height of 10 @nov from the ground, because it's a

05 OIp - an area that is neither a 7’1 MW nor a @277 MW
and you are not 20 for carrying to and from it on naw.
Although vwn - passing an item above ten O'Nov is 271 - as
we learned in the Mishnah from the o571 n2p who passed
the w1 p from one wagon to another which were 10 o’nov
high - VWD PO RS -

We do not learn throwing from passing.

D T ) - [
(ALL AGREE ) (owman ) (Napyan)

g 1N K85

DYNRR PN

-2- There is another way to learn the Machlokes.

The thrown object passed through above 10 o'nov. The -
machlokes is - (ALLAGREE ) (Cowsn ) (sapy'an)
27M» RIPY 127 because LW P 19> - we learn throwing
from passing that he's 2.

1010 ©IM because LW P 9 RS - we do not learn ]3’5‘7’ J) 13’55’
throwing from passing, and throwing above 10 »nov is 0o, R0 PN BWRR P
However, below 10 o'nov the onon would agree that he's 27n
because they also hold X7 Annnw 13 7OI).

D2 MDY

—
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The gemara also cites WYX *27 who holds that the machlokes
is in both cases - above AND below 10 o'nov.

27 R2pY 27 because he holds both vwimn P 119> and
RODT AN 13 70,

P01 O3 because they hold wwinn 199> R and

RODT AN 13 TR MR RO,

APoR 139

DA PN
(oman ) (xappan) (amon ) (xappa)

s &b e x5 e
IR P A P

The Gemara mentions another opinion that of 230 92 7pbn "7

who understood the machlokes as the first 7%, 21 93 mpbn

MO 5117727 MwYn THPnY - above 10 Now all agree that he's

0o, The machlokes is below 10 0'nov - but only above 3
‘ pT>lo}

133 RTPY 227 IRomnD 1R WY TV TUHwn -

From 3 to 10 nov is where the machlokes applies.

Below 3 o'nov the o'mon will agree that he’s 27m, based on the

principle of

25 - which teaches that anything within three onov of the

ground is considered to be resting directly on the ground.

The Gemara later explains;

MT 7125 AWIHLWH MmN 53 1127 IMORT RN R RID -

From where do we know the concept of T125? :nmbm’

At first the X2 suggests a X120 - & %’

077 VPHNA VRYNY D27 MWD 1D TWOR RW 05 - ‘% 1oonov

It would be impossible for a public street to be a perfectly ) e S )

flat. We have to assume that some protrusions are considered 30OV

to be part of the ground of the o237 mw.

However, after questioning why we would randomly make

the cutoff at three onov, the X2 concludes

75 PP RN257 HT 253 nwHwn mno 3 - we know 7125 from

POP WY 1357,

Do
( ALLAGREE )

( ALL AGREE ) (owman ) (wapyp'an)

N 1N 8D

15 s 8na5R

N
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As part of this discussion the Gemara cites a Rn721 which
adds;

MW DWH RORIPR TP 7505 -

Above ten 0'nov, even though everybody agrees that one
would be Rn»MRTH NMVD - it is 13277 NON to transfer an object
from one 71 MW to another without M3 17,

AR5V DWW P ORI -

If both 7 mmwn belong to the same person AND they are
at the same height, it is 977 to transfer from one to the other
even 1277n.

Let's summarize the three types of carrying:

-1-v2v» - Carrying -

One is 27n at any height, even Dnov ROV WYL TOPHS -
above 10 0’nov, as R’ Elazar taught above on Xwn 1pw - 2”3 97
nip 12 - who carried objects on their shoulders, which were
above 10 ’nov from the ground.

-2- LW - Passing -

Here too, one is 0'mov mwwn 1onb 27n - as we learned in the
Mishnah, o571 nTap 19w - the »17 °32 would pass the owap
from one wagon to another, which were 10 150 high.

-3- p - Throwing - above 10 1oV - depends on the various
opinions on this daf.

i
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The Gemara continues;

271 727 PIHNRA TN MW D370 WIS 02237 MwIn 13270
IO DRI -

When somebody throws from one 177 mw to another, with
a 70 mwi in the middle, *27 would hold he is 271 and the
o'»on hold he is Mo,

The xx adds two details in *27's opinion:

1= VPR TN MWL ROR 22T M RY -

Rebbe obligates only when the 71 miws that is passes
through has a roof on it, where we say 157 RO JR>I R’ -
the house is considered filled so that anything that passes
through it is considered to be resting in it.

-2- DNW 27 777 27110 SRIDW IR TP 27 IR RIN 27 IR -
Rebbe would say you are 2°n twice, once for transferring
from the 0’27971 MwA to the 7’0 Mw1, and once for bringing it
from the 7’0 Mmw1 in the middle to the o297 mw on the
other side.

The 02 rejects this because *27 does not hold 779nx 270
2R O)p1 - that one would be 27m separately for a 7750 like
70107 when he is already 271 for its 719x51 2R of IR,

Instead, the X2 suggests that the comment onw 270 was
said regarding a teaching of 77 27 in a case where a person
threw something from a 70 mw1 to a 0177 MW, and it
landed more than four m»R into the 777 °27.02937 MW says
he is 27n.

At first we assert that he means he’s 27n twice, once for IRz
237 MWw® 7rn mw and once for 712vn - carrying it four
mnR within a 0277 M.

However, here too the X3 concludes that 77 *27 only
meant that he’s 27n for one violation.

Nl
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22971 AaD 2Y39 s
PN 70 D
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(mman)

2 mnN4
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[=p=ln] ﬂWJ

Only 2717 for
ONE

violation

Shabbos 97 - 5



1887 naw

The Gemara continues with a related Halacha.
PYRWN DW 202 37 VIR PIN FINW 1D PN ROwo -

It is obvious that if he intended to throw something eight ) \
NN in a 0’1797 M1 but accidentally threw only four minR, he 2N "7 AR P\‘“‘? i la
is 271 because it is like intending to write the name pw»w and yRwn ow YaaN pan

stopping after writing ow, where he intended to do a larger
7ox5n but did a smaller 7R,

T TIDW PN PIIR 21N 1M -
What would be the no5n if a person intended to throw

something four nx and he overthrew it to the point of eight TR PN PASN P\ﬂ?s Man)

NN ?
MR away ?Wnn

. BN 4

The X2 answers that not only is he 7109 in the case where he
overthrew it,

but even in the case where he underthrew it - where we
thought it was obvious that he would be 271 - he is in fact
09, because it did not land where he intended for it to land.
This is not at all like writing py»w» bW, because one cannot
write pynw without the first two letters - therefore, he
intended to write Dw.

However, one can certainly throw something eight mnx
without it ever landing at four mn»x. Therefore - as Rashi
writes - 1nawmn mn»pni RS - his intention was not fulfilled,
and he would be mv9.

However, in a situation of

MIN NI DIPP 2 MR -

He has no intention of a specific place he would be 2°n in
both cases. he intended to write OO

i
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